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  :قبل ان نشرع في العمل أحب أن ادر ج المثال التالي 
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: احسب النهايات التالية  
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وقفة
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مستحب بالنسبة  (خاص بالعلوم الرياضية 
) لباقي الشعب



CONFIDENTIAL14

1
2

0

2

2

0

tan( x)71). lim
(x)

172). lim1 ( )

73). lim (x)

174). lim arctan

75). lim arctan(tanx)

176). lim (x 2) arctan( )
2

1 277). lim arctan( )
4 3

arctan(x x)78). lim

79). lim arc

x

x

x

x

x

x

x

x

x

x E

xE
x

x E x

x
x

x
x
x

x

x



























 






 
 



 3

0

1tan

arctan80). lim
x

x
x

x


